
Kawasaki Teryx Front Bumper 

P/N 10472 

Fits: 08-11 Models 
Includes: 

1. (1) Bumper with Hoop 

2. (1) Aluminum Bash Plate 

3. (2) Mounting Brackets (LH & RH) 

4. (8) 3/8-16x1” Black Carriage Bolts 

5. (8) 3/8-16x1” Button Head Cap Screw (Zinc) 

6. (16) 3/8 Flange Nuts (Zinc) 

7. (1) Logo Sticker 

8. (2) Round Spacer x 1” long (2009 Models only) 

9. (2) M10 x 1.25 x 50 mm Long (2009 Models only) 

 

Installation: 

1. Install your winch to the bumper if you have one. 

2. Remove stock bumper including radiator shroud. 

3. Install Mounting Brackets using the stock bolts and 

mounting points.  Do not tighten yet. 

4. Install the bash plate using the 3/8x1 Button head 

screws and flange nuts. Do not tighten yet. 

5. Install the bumper using the black carriage bolts.  

You will use these where there are square holes.  Do 

not tighten yet. 

6. When all the bolts are in place go ahead and tighten 

all your bolts. 


